AGX / GX Series Cylreor

Guide cylinder with guide unit / Bore size : @20, @25, @32, @40

How to order

'AGX)(B)(B/4

1] Type 25 @25mm Auto switch
Guide cylinder 32 (#32mm (Band mounted type / Grommet)
(Built—in magnet) 40 : B40mm Blank : None
. . W5 : Reed switch
(2] Type of bearing Cylinder stroke(mm) (Lead wire of 0.5m)
@ Compact integration of AGX/GX series B': Bushing type % Refer to the above table W5L : Reed switch
cylinder with guide rods. i _ (Lead wire of 0.5m)
yineer Wi 9 . Mounting [6] Cushion .
unit resists lateral loading and B: Standard Blank: Rubber cushion Number of switches
provides precise, non—rotating motion Bore size A Air cushion Blank: 2 pcs,
® The AGX/GX series is equipped with 20 @20mm S :ipc,
. N : N pcs,
a standard magnet for auto switch
capabilit E -
pabiity How to order guide unit
(1] Type of bearing Bore size Cylinder strokes(mm)
B : Bushing type 20 : @20mm @20 ,@25: 25, 50, 75, 100, 125,
25 : @25mm 150, 200, 250, 300
Mounting 32 : @32mm @32 : 25, 50, 75, 100, 125, 150,
B: Standard 40 : @40mm 200,250, 30Q 350, 400

@40 : 25, 50, 75, 100, 125, 150, 200,
250, 30Q 350, 400 450,500

Specifications
Fluid Air
Action Double acting
Proof pressure 15kgf/cm2(213 psi)
Max. operating pressure 9.9kgf/cm2(140 psi)
Min, operating pressure 0.5kgf/cm?(7 psi)
Ambient and fluid temperature —10°C~+70°C (14~160°F)(Anti—freezing)
Lubrication Non—lube
Thread tolerance KS 2 Class
Stroke tolerance +2)»4 mm
Air cylinder + guide unit
. .. |Bore size| Port size Standard stroke .. | Operating pressure
Action Series (mm) | Re(PT) i) Description kg /em2(ps)
@20 25, 50, 75, 100, 125,
o @25 150, 200, 250, 300
Air cylinder(AX)
+ Guide unit(GX) - V| & 5.1, 10, 1,
AGX s VY, 29U, UL, hi 0.5~9.9(7~140
E 350, 400 Bushing 5~9.9( )
25, 50, 75, 100, 125,
@40 | /4 | 150, 200, 250, 300,
350, 400, 450, 500




Series AGX/GX

Guide Cylinder : Series AGX N |ACP
$ 20(AGXBB20-* x) APM
AS
45 X
2-$10 |‘L' ‘*\b
e s B ES AM2
| E] b
ﬂ%_@— ] ' AM
8 B 7t B R > R
X ALX
4 | & J &) — . =
BT 2-C' Bore $ 11
JF‘ , ﬁgfj ————— %ﬁ '''''''''' .y © ADQ
. 35 \2-#6.6 Thru ] AQ2
§§ i 80 10 35’ ABQZ
106+ Standard Stroke AJ
. AM
2x4-M5x0.8 DP:8.5
& :‘r:h‘: S ] ABK
T R 4+ —— —t—t——
a- 1 A g ACKt
15| 50 !\4—M5xo.8 DP:8.5 L
NSK
AG
$ 25(AGXBB25-* ) NGQ
— 4_¥|ii ! 2-$10 — ég%(X
[ I f]_____ ________ m_ (o | ° NP
T EE%‘@ — | B b | Q~/
g I CoTele= G s B I AN ) i AMR
e > - i
_.' ,_ N \2-CBored11 [ _— | |
ﬁ} @{ﬁ - ?\SP%B 11 - @ NDM
jg 12| 35 | 9})2#6.6 Thru 10 | é:.—,% ARD
121+ Standard Stroke
NST
2x4-M5x0.8 DP:10
AST
gl ASTH
NLCD
NLCS
405

www. TPCpage.com
www. TPCpage.co.kr



Series AGX/GX

Guide Cylinder : Series AGX Unit : mm

$ 32(AGXBB32- * *)

4 . 45
- 4-M5%0.8 ‘ 2350 "’
A -
P — Enm)
i@ 4 = U O — S A I
R i 4 @ — - K4
| 7 —
o (@) A9 «|derfihe aslot -
3 S - elglet i f 'ﬁ"ﬁ'm—m‘——' llﬁ) B S
i =1
b, | & ] @ , '
@) 4 N N DR \2:CBoreg1d [ . L
598 L ©
38 35 \2796 9 Thru 49
40 2] 90 12 50

123+ Standard Stroke

2x4-M6x1.0 DP:10
e —

1 Eill —e "gsnﬁ
. I
s — == P —— I
B RIS
20 | 50 I\A-M6X1.0 DP:10 L

$ 40(AGXBB40- * *)

I‘%’I /%-o 234 816 40
! p—|
1B © g 7y m > )
S ) i .
¢ I B xS G} J - : }/
I 7 2 a
Q /_FE\\ <| © Ogﬁii |77 w| 3| oo o /—/ﬁ .
AN T Ik
i : A
i o L S
e | @ J@? ,
| b | N
“ rf« .
198 | N ] @
50 |42 \ 2-# 11Thru | -
- 15 122 12 o

151+ Standard Stroke

2x4-M6x1.0 DP:10

[ |

1
70 J\4-M6x1.0 DP:10

]
a

— HE

@ |

25

406



Series AGX/GX

Guide Unit Unit : mm

$ 20(AGXBB20- * *)

q
40

78
80

60
5

20

358
|4

!

|

i
| ﬁ =

|

M20x1.5

80

106+ Standard Stroke

10 10.5

116.5+Standard Stroke

2x4-M5x0.8 DP:8.5
|

(22) |

32

ACP

APM

AS

AX

AM2

ACK1

NSK

| 28 o
PN —_ )
Y. —— " g
(M } g — $26.6 ) | M26x1.5
= -I —L
d FHO) oaslof-- |||§Z',‘
4 i 2 g
\ —]
| ‘
m @ m DP:7 ; @ NDM
S8 \ - ru
e 1] 9?) $6.6 Th 0 4;;) ARD
121+STandard Stroke
2x4-M6x0.8 DP:10 NST
AST
ASTH
NLCD
NLCS
407

www. TPCpage.com
www. TPCpage.co.kr



Series AGX/GX

$ 32(AGXBB32-* *)

4 45
4-M6x0.8 30
|‘L’I / Thru 25, $14 30
T H i — ":!"f L!_’; H
oY | —EEL—— [ b
i | Y N » .
| — $33.8 ¥ o615 .
7N =) g5 o — !
3| [T ED)T888 « 1?‘9[ -«”145:% —H—— ,___ 8 - 2
= Qe A -
| = e = B s
| N—@ = w
'® I e ®
& D) i — —A\\2CBoregld I L
N Iy DP:9 H |
28 35 \2-$9 Thru 49
40 112 90 1z 50
- 123+ Standard Stroke
2x4-M6x 1.0 DP:10
_ —
L
: 1l
T H $_ |
20 | 50 N\ awmext0opit0 L)t
$ 40(AGXBB40-* *)
2 56
38 4-M6x1.0 34 I
r—,T Thru 28 216 o —
! . — nyj
LR : o | |
A Y = R || g }3"
v | @ D $42 M32x2
I

54

H
(35
450
‘ |
JEE
[T L=

\

%

|

b @

i

i (&) 7 CBores 17 ®

I i L DP:11 L |
50 | 42 \__ 2811 Thru | o
52 15 122 12|| 4 56

151+ Standard Stroke

155+ Standard Stroke

2x4-M6x1.0 DP:10

1] mr@— )
sl g [

28 |, 7 4-M6x 1.0 DP:10

(40)

408



